# CERTAIN RESULTS ON A SUBCLASS OF ANALYTIC AND BI-UNIVALENT FUNCTIONS ASSOCIATED WITH COEFFICIENT ESTIMATES AND QUASI-SUBORDINATION

S.P. Goyal, Onkar Singh and Rohit Mukherjee

Communicated by Ayman Badawi

MSC 2010 Classifications: Primery: 30C45.

Keywords and phrases: Univalent functions, bi-univalent functions, bi-starlike functions, bi-convex functions, quasisubordination.

**Abstract**. In the present paper, we obtain the estimates on initial coefficients of normalized analytic function f in the open unit disk with f and its inverse  $g = f^{-1}$  satisfying the conditions that zf'(z)/f(z) and zg'(z)/g(z) are both quasi-subordinate to a univalent function whose range is symmetric with respect to the real axis. Several related classes of functions are also considered, and connections to earlier known results are established.

### **1** Introduction

Let  $\mathcal{A}$  be the class of all analytic functions f in the open unit disk  $\mathbb{D} = \{z : z \in \mathcal{C}; |z| < 1\}$ and normalized by the conditions f(0) = 0 and f'(0) = 1. The Koebe-one quarter theorem [4] ensures that the image of  $\mathbb{D}$  under every univalent function  $f \in \mathcal{A}$  contains a disk of radius 1/4. Thus every univalent function f has an inverse  $f^{-1}$  satisfying  $f^{-1}(f(z)) = z, z \in \mathbb{D}$  and

 $f(f^{-1}(w)) = w \quad (|w| < r_0(f), r_0(f) \ge 1/4).$ 

In fact, the inverse function  $f^{-1}$  is given by (see, e.g. [1], [7], [14]])

$$f^{-1}(w) = w - a_2 w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots$$
(1.1)

A function  $f \in A$  is said to be bi-univalent in  $\mathbb{D}$  if both f and  $f^{-1}$  are univalent in  $\mathbb{D}$ . Let  $\Sigma$  denote the class of bi-univalent functions defined in  $\mathbb{D}$ .

Ma and Minda [9] introduced the following class

$$S^*(h) = \left\{ f \in \mathcal{A} : \frac{zf'(z)}{f(z)} \prec h(z) \right\}$$
(1.2)

where h is an analytic function with positive real part in  $\mathbb{D}$ ,  $h(\mathbb{D})$  is symmetric with respect to the real axis and starlike with respect to h(0) = 1 and h'(0) > 0. A function  $f \in S^*(h)$  is called Ma-Minda starlike (with respect to h). C(h) is the class of convex functions  $f \in \mathcal{A}$  for which

$$1 + \frac{zf''(z)}{f'(z)} \prec h(z).$$
(1.3)

The classes  $S^*(h)$  and C(h) include several well-known subclasses of starlike and convex functions as special cases.

In the year 1970, Robertson [13] introduced the concept of quasi-subordination. For two analytic functions f and g, the function f is quasi-subordinate to g, written as

$$f(z) \prec_q g(z) \ (z \in \mathbb{D}), \tag{1.4}$$

if there exist analytic functions  $\varphi$  and w, with  $|\varphi(z)| \leq 1, w(0) = 0$  and |w(z)| < 1 such that  $f(z) = \varphi(z)g(w(z))$ . Observe that if  $\varphi(z) = 1$ , then f(z) = g(w(z)), so that  $f(z) \prec \varphi(z)$  in  $\mathbb{D}$ . Also notice that if w(z) = z, then  $f(z) = \varphi(z)g(z)$  and it is said that f is majorized by g and written  $f(z) \ll g(z)$  in  $\mathbb{D}$ . Hence it is obvious that quasi-subordination is a generalization of subordination as well as majorization. (see, e.g. [5]-[7], [10], [12] for works related to quasi-subordination).

Lewin [8] investigated the bi-univalent function class  $\Sigma$  and showed that

$$|a_2| < 1.51$$

. Subsequently, Brannan et al. [2] conjuctured that

$$|a_2| < \sqrt{2}$$

. Netanyahu [11], on the other hand, showed that

$$\max_{f\in\Sigma}|a_2|=\frac{4}{3}.$$

The coefficient estimate problem for each of the following Taylor Maclaurin coefficients

$$|a_n| \quad (n \in \mathbb{N} \setminus \{1, 2, 3\} : \mathbb{N} = \{1, 2, 3, 4, ...\})$$

is presently still an open problem.

Brannan and Taha [3] obtained initial coefficient bounds for certain subclasses of bi-univalent functions, similar to the familiar subclasses of univalent functions consisting of strongly starlike, starlike and convex functions. Later, Srivastava et al. [14] introduced and investigated subclasses of bi-univalent functions and obtained bounds for the initial coefficients. Recently, Ali et al. [1] obtained the coefficient bounds for bi-univalent Ma-Minda starlike and convex functions.

Throughout this paper it is assumed that h is analytic in  $\mathbb{D}$  with h(0) = 1 and let

$$f(z) = z + a_2 z^2 + a_3 z^3 + ...,$$
  

$$\varphi(z) = A_0 + A_1 z + A_2 z^2 + ..., (|\varphi(z)| \le 1, z \in \mathbb{D})$$
(1.5)

$$h(z) = 1 + B_1 z + B_2 z^2 + \dots, \quad B_1 \in \mathbb{R}^+.$$
(1.6)

Motivated by earlier work on quasi-subordination we define the following classes:

**Definition 1.1.** A function  $f \in \Sigma$  is said to be in the class  $\mathcal{J}_{\beta}^{q}(h)$  ( $\beta \geq 0$ ) if the following quasisubordination holds:

$$\left[\frac{zf'(z)}{f(z)}\right] \left[\frac{f(z)}{z}\right]^{\beta} - 1 \prec_q (h(z) - 1) \quad and \quad \left[\frac{wg'(w)}{g(w)}\right] \left[\frac{g(w)}{w}\right]^{\beta} - 1 \prec_q (h(w) - 1).$$
(1.7)

**Definition 1.2.** A function  $f \in \Sigma$  is said to be in the class  $\mathcal{K}^{q}_{\gamma,\tau}(h)$   $(0 \leq \gamma < 1, \tau \in \mathbb{C}/\{0\})$  if the following quasi-subordination holds:

$$\frac{1}{\tau} \left( f'(z) + \gamma z f''(z) - 1 \right) \prec_q (h(z) - 1) \quad and \quad \frac{1}{\tau} \left( g'(w) + \gamma w g''(w) - 1 \right) \prec_q (h(w) - 1)$$
(1.8)

**Definition 1.3.** A function  $f \in \Sigma$  is said to be in the class  $\mathcal{H}^q_{\alpha}(h)$  ( $\alpha \ge 0$ ) if the following quasisubordination holds:

$$\frac{zf'(z)}{f(z)} + \alpha \frac{z^2 f''(z)}{f(z)} - 1 \prec_q (h(z) - 1) \quad and \quad \frac{wg'(w)}{g(w)} + \alpha \frac{w^2 g''(w)}{g(w)} - 1 \prec_q (h(w) - 1).$$
(1.9)

It is known that a function  $f \in A$  with  $\operatorname{Re} f'(z) > 0$  in  $\mathbb{D}$  is univalent. The above classes of functions defined in terms of the quasi-subordination are associated with the classes of functions with positive real part.

In the present paper, the coefficient bounds of  $|a_2|$  and  $|a_3|$  for functions in the classes  $\mathcal{J}^q_\beta(h)$ ,  $\mathcal{K}^q_{\gamma,\tau}(h)$  and  $\mathcal{H}^q_\alpha(h)$  are obtained.

We now state and prove the main results of our present investigation:

## 2 Main Results

**Theorem 2.1.** If  $f \in \mathcal{J}^q_{\beta}(h)$  is given by

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n \tag{2.1}$$

then

$$a_{2}| \leq \frac{|A_{0}| B_{1}\sqrt{2B_{1}}}{\sqrt{(\beta+1)|(\beta+2) A_{0}B_{1}^{2} - 2(\beta+1)(B_{2} - B_{1})|}}$$
(2.2)

$$|a_{3}| \leq \frac{|A_{1}|B_{1}}{(\beta+2)} + \frac{|A_{0}|B_{1}((\beta+3)+|\beta-1|)+4|A_{0}||B_{2}-B_{1}|}{2(\beta+1)(\beta+2)}.$$
(2.3)

**Proof.** Let  $f \in \mathcal{J}_{\beta}^{q}(h)$  and  $g = f^{-1}$ . Then there are analytic functions  $u, v : \mathbb{D} \to \mathbb{D}$ , with u(0) = v(0) = 0, |u(z)| < 1 and |v(z)| < 1 and a functions  $\varphi$  in  $\mathbb{D}$  defined by (1.5) satisfying

$$\left[\frac{zf'(z)}{f(z)}\right] \left[\frac{f(z)}{z}\right]^{\beta} - 1 = \varphi\left(z\right)\left(h\left(u\left(z\right)\right) - 1\right) \quad and \quad \left[\frac{wg'\left(w\right)}{g\left(w\right)}\right] \left[\frac{g\left(w\right)}{w}\right]^{\beta} - 1 = \varphi\left(w\right)\left(h\left(v\left(w\right)\right) - 1\right)$$

$$(2.4)$$

Define the function  $p_1$  and  $p_2$  by

$$p_1(z) = \frac{1+u(z)}{1-u(z)} = 1 + c_1 z + c_2 z^2 + \dots$$

and

$$p_2(z) = \frac{1+v(z)}{1-v(z)} = 1 + b_1 z + b_2 z^2 + \dots$$

Or equivalently

$$u(z) = \frac{p_1(z) - 1}{p_1(z) + 1} = \frac{1}{2} \left[ c_1 z + \left( c_2 - \frac{c_1^2}{2} \right) z^2 + \dots \right]$$
(2.5)

and

$$v(z) = \frac{p_2(z) - 1}{p_2(z) + 1} = \frac{1}{2} \left[ b_1 z + \left( b_2 - \frac{b_1^2}{2} \right) z^2 + \dots \right].$$
(2.6)

Then  $p_1$  and  $p_2$  are analytic in  $\mathbb{D}$  with  $p_1(0) = 1 = p_2(0)$ . Since  $u, v : \mathbb{D} \to \mathbb{D}$ , the functions  $p_1$  and  $p_2$  have a positive real part in  $\mathbb{D}$ , and  $|b_i| \le 2$  and  $|c_i| \le 2$  (i = 1, 2). In view of (2.4) - (2.6), clearly we have

$$\left[\frac{zf'(z)}{f(z)}\right] \left[\frac{f(z)}{z}\right]^{\beta} - 1 = \varphi(z) \left[h\left(\frac{p_1(z) - 1}{p_1(z) + 1}\right) - 1\right]$$
(2.7)

and

$$\frac{wg'(w)}{g(w)}\left[\frac{g(w)}{w}\right]^{\beta} - 1 = \varphi(w)\left[h\left(\frac{p_2(w) - 1}{p_2(w) + 1}\right) - 1\right].$$
(2.8)

Using (2.5) and (2.6) together with (1.5) and (1.6), it is evident that

$$\phi(z) \left[ h\left(\frac{p_1(z) - 1}{p_1(z) + 1}\right) - 1 \right] = \frac{1}{2} A_0 B_1 c_1 z + \left\{ \frac{1}{2} A_1 B_1 c_1 + \frac{1}{2} A_0 B_1 \left( c_2 - \frac{c_1^2}{2} \right) + \frac{A_0 B_2}{4} c_1^2 \right\} z^2 + \dots$$
(2.9)

and

$$\phi(w) \left[ h\left(\frac{p_2(w) - 1}{p_2(w) + 1}\right) - 1 \right] = \frac{1}{2} A_0 B_1 b_1 w + \left\{ \frac{1}{2} A_1 B_1 b_1 + \frac{1}{2} A_0 B_1 \left( b_2 - \frac{b_1^2}{2} \right) + \frac{A_0 B_2}{4} b_1^2 \right\} w^2 + \dots$$
(2.10)

Since  $f \in \Sigma$  has the Maclaurin series given by (2.1), a computation shows that its inverse  $g = f^{-1}$  has the expansion given by (1.1).

Since

$$\left[\frac{zf'(z)}{f(z)}\right] \left[\frac{f(z)}{z}\right]^{\beta} - 1 = (\beta + 1)a_2z + \left((\beta + 2)a_3 + \frac{(\beta - 1)(\beta + 2)}{2}a_2^2\right)z^2 + \dots \quad (2.11)$$

and

$$\left[\frac{wg'(w)}{g(w)}\right] \left[\frac{g(w)}{w}\right]^{\beta} - 1 = -(\beta+1)a_2w + \left(-(\beta+2)a_3 + \frac{(\beta+3)(\beta+2)}{2}a_2^2\right)w^2 + \dots$$
(2.12)

Now using (2.9) and (2.11) in (2.7) and comparing the coefficients of z and  $z^2$ , we get

$$(\beta + 1) a_2 = \frac{1}{2} A_0 B_1 c_1 \tag{2.13}$$

$$(\beta+2)a_3 + \frac{(\beta-1)(\beta+2)}{2}a_2^2 = \frac{1}{2}A_1B_1c_1 + \frac{1}{2}A_0B_1\left(c_2 - \frac{c_1^2}{2}\right) + \frac{A_0B_2}{4}c_1^2.$$
(2.14)

Similarly using (2.10) and (2.12) in (2.8) and comparing the coefficients of w and  $w^2$ , we get

$$-(\beta+1)a_2 = \frac{1}{2}A_0B_1b_1$$
(2.15)

$$-(\beta+2)a_3 + \frac{(\beta+3)(\beta+2)}{2}a_2^2 = \frac{1}{2}A_1B_1b_1 + \frac{1}{2}A_0B_1\left(b_2 - \frac{b_1^2}{2}\right) + \frac{A_0B_2}{4}b_1^2.$$
(2.16)

From (2.13) and (2.15), it follows that

$$c_1 = -b_1$$
 (2.17)

and (2.12)-(2.16) and (2.17) yields

$$a_{2}^{2} = \frac{A_{0}^{2}B_{1}^{3}(b_{2}+c_{2})}{2(\beta+1)\left[(\beta+2)A_{0}B_{1}^{2}-2(\beta+1)(B_{2}-B_{1})\right]}$$

Using well-known inequalities  $|b_i| \le 2$  and  $|c_i| \le 2$  (i = 1, 2) for functions with positive real part, gives us the desired estimate on  $|a_2|$  as asserted in (2.2). Now further computations (2.13) to (2.17) leads to

$$a_{3} = \frac{A_{1}B_{1}c_{1}\left(\beta+1\right) + \frac{A_{0}B_{1}}{2}\left[\left(\beta+3\right)c_{2} - \left(\beta-1\right)b_{2}\right] + A_{0}b_{1}^{2}\left(B_{2} - B_{1}\right)}{2\left(\beta+1\right)\left(\beta+2\right)}$$

Using the above result and in view of the inequalities  $|c_i| \le 2$  and  $|b_i| \le 2$  (i = 1, 2) for functions with positive real part yield the desired estimate in (2.3).  $\Box$ 

**Remark 2.2.** For  $\beta = 1$ ,  $\varphi(z) \equiv 1$ , the inequality (2.2) reduce to the result ([1], p. 345, Theorem 2.1). Further for

$$\beta = 1, \varphi(z) \equiv 1 \text{ and } h(z) = \left(\frac{1+z}{1-z}\right)^{\gamma} = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots \quad (0 < \gamma \le 1)$$

the inequality (2.2) reduces to the result in ([14], p.3, Theorem 1) and for

$$h(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} = 1 + 2(1 - \gamma)z + 2(1 - \gamma)z^{2} + \dots$$

the inequality (2.2) reduce to the result in ([14], p.4, Theorem 2).

For  $\beta = 0$ , the above theorem reduces to

**Corollary 2.3.** Let f given by (2.1) be in the class  $J_0^q(h) \equiv J^q(h)$ . Then

$$|a_2| \le \frac{|A_0| B_1 \sqrt{B_1}}{\sqrt{|A_0 B_1^2 - B_2 + B_1|}}, \qquad |a_3| \le \frac{|A_1| B_1}{2} + |A_0| (B_1 + |B_2 - B_1|).$$

For  $\beta = 0, \varphi(z) \equiv 1$ , above theorem reduces to the coefficient estimates for Ma-Minda bi-starlike functions.

**Remark 2.4.** For  $\beta = 0$ ,  $\varphi(z) \equiv 1$  and

$$h(z) = \left(\frac{1+z}{1-z}\right)^{\gamma} = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots \quad (0 < \gamma \le 1)$$

the inequalities (2.2)and (2.3) reduce to the result ([4], Theorem 2.1) and for

$$h(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} = 1 + 2(1 - \gamma)z + 2(1 - \gamma)z^{2} + \dots$$

the inequalities (2.2)and (2.3) reduce to the result ([3], Theorem 3.1).

**Theorem 2.5.** If f given by (2.1) be in the class  $\mathcal{K}^{q}_{\gamma,\tau}(h)$ , then

$$|a_{2}| \leq \frac{|\tau| |A_{0}| B_{1} \sqrt{B_{1}}}{\sqrt{\left| 3\tau A_{0} B_{1}^{2} (1+2\gamma) + 4 (1+\gamma)^{2} (B_{1}-B_{2}) \right|}}$$
(2.18)

and

$$|a_{3}| \leq \frac{|\tau|}{1+2\gamma} \left[ \frac{|A_{1}|}{3} + |A_{0}| \left( \frac{1}{3} + \frac{(1+2\gamma)|\tau| |A_{0}| B_{1}}{4(1+\gamma)^{2}} \right) \right] B_{1}.$$

$$(2.19)$$

**Proof.** Let  $f \in \mathcal{K}^q_{\gamma,\tau}(h)$  and  $g = f^{-1}$ . Then there exists analytic functions  $u, v : \mathbb{D} \to \mathbb{D}$ , with u(0) = v(0) = 0, |u(z)| < 1 and |v(z)| < 1 and a function  $\varphi$  in  $\mathbb{D}$  defined by (1.4) satisfying

$$\frac{1}{\tau} (f'(z) + \gamma z f''(z) - 1) = \phi(z) (h(u(z)) - 1)$$

and

$$\frac{1}{\tau} \left( g'(w) + \gamma w g''(w) - 1 \right) = \varphi(w) \left( h\left( v(w) \right) - 1 \right)$$
(2.20)

where u(z) and v(z) are defined by (2.5) and (2.6) respectively.

Under the same restrictions for  $p_1(z)$ ,  $p_2(z)$ ,  $b_i$  and  $c_i$  as mentioned in the Theorem 2.1, obviously we have

$$\frac{1}{\tau} \left( f'(z) + \gamma z f''(z) - 1 \right) = \phi(z) \left[ h \left( \frac{p_1(z) - 1}{p_1(z) + 1} \right) - 1 \right]$$
(2.21)

and

$$\frac{1}{\tau} \left( g'(w) + \gamma w g''(w) - 1 \right) = \phi(w) \left[ h \left( \frac{p_2(w) - 1}{p_2(w) + 1} \right) - 1 \right]$$
(2.22)

where the right-hand sides of (2.21) and (2.22) are given by (2.9) and (2.10) respectively. Since

$$\frac{1}{\tau} \left( f'(z) + \gamma z f''(z) - 1 \right) = \frac{1}{\tau} \left[ 2 \left( 1 + \gamma \right) a_2 z + 3 \left( 1 + 2\gamma \right) a_3 z^2 + \dots \right]$$
(2.23)

and

$$\frac{1}{\tau} \left( g'(w) + \gamma w g''(w) - 1 \right) = \frac{1}{\tau} \left[ -2\left(1 + \gamma\right) a_2 w + 3\left(1 + 2\gamma\right) \left(2a_2^2 - a_3\right) w^2 + \dots \right].$$
(2.24)

Now using (2.9) and (2.23) in (2.21) and comparing the coefficients of z and  $z^2$ , we get

$$2\left(\frac{1+\gamma}{\tau}\right)a_2 = \frac{1}{2}A_0B_1c_1\tag{2.25}$$

$$3\left(\frac{1+2\gamma}{\tau}\right)a_3 = \frac{1}{2}A_1B_1c_1 + \frac{1}{2}A_0B_1\left(c_2 - \frac{c_1^2}{2}\right) + \frac{A_0B_2}{4}c_1^2.$$
 (2.26)

Similarly (2.10) and (2.22) and (2.24) yields

$$-2\left(\frac{1+\gamma}{\tau}\right)a_2 = \frac{1}{2}A_0B_1b_1\tag{2.27}$$

and

$$6a_2^2 - 3a_3\left(\frac{1+2\gamma}{\tau}\right) = \frac{1}{2}A_1B_1b_1 + \frac{1}{2}A_0B_1\left(b_2 - \frac{b_1^2}{2}\right) + \frac{A_0B_2}{4}b_1^2.$$
 (2.28)

From (2.25) and (2.27), we have

$$c_1 = -b_1.$$
 (2.29)

From (2.26), (2.28) and (2.29), we get

$$a_{2}^{2} = \frac{\tau^{2} A_{0}^{2} B_{1}^{3} \left(b_{2} + c_{2}\right)}{4 \left[3\tau \left(1 + 2\gamma\right) B_{1}^{2} A_{0} - 4 \left(1 + \gamma\right)^{2} \left(B_{2} - B_{1}\right)\right]}$$

Using well-known inequalities  $|b_i| \le 2$  and  $|c_i| \le 2$  (i = 1, 2) for functions with positive real part, gives us the desired estimate on  $|a_2|$  as asserted in (2.18).

Now, further computation (2.21)-(2.25) leads to

$$a_{3} = \frac{\tau}{1+2\gamma} \left[ \frac{A_{1}B_{1}c_{1}}{6} + \frac{A_{0}B_{1}}{12} \left(c_{2} - b_{2}\right) + \frac{\tau}{16} \frac{\left(1+2\gamma\right)}{\left(1+\gamma\right)^{2}} A_{0}^{2} B_{1}^{2} c_{1}^{2} \right].$$

Using above result and in view of the inequalities  $|c_i| \le 2$  and  $|b_i| \le 2$  (i = 1, 2) for functions with positive real part yield the desired estimate in (2.19).  $\Box$ 

For  $\tau = 1, \gamma = 0$ , the above theorem reduces to

**Corollary 2.6.** Let f given by (2.1) be in the class  $\mathcal{K}_{0,1}^q(h) \equiv \mathcal{K}^q(h)$ . Then

$$|a_2| \le \frac{|A_0| B_1 \sqrt{B_1}}{\sqrt{|3A_0 B_1^2 - 4B_2 + 4B_1|}} \quad and \quad |a_3| \le \frac{|A_1|}{3} + |A_0| \left(\frac{1}{3} + \frac{|A_0| B_1}{4}\right) B_1.$$

**Remark 2.7.** For  $\tau = 1, \gamma = 0, \varphi(z) \equiv 1$ , the inequalities (2.18) and (2.19) reduce to the result ([1], p. 345, Theorem 2.1). Further for

$$\tau = 1, \gamma = 0, \varphi(z) \equiv 1 \text{ and } h(z) = \left(\frac{1+z}{1-z}\right)^{\gamma} = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots \quad (0 < \gamma \le 1)$$

the inequalities (2.18) and(2.19) reduces to the result in ([14], p.3, Theorem 1), and for

$$h(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} = 1 + 2(1 - \gamma)z + 2(1 - \gamma)z^{2} + \dots$$

the inequalities (2.18) and(2.19) reduce to the result in ([14], p.4, Theorem 2).

**Theorem 2.8.** If f given by (2.1) be in the class  $\mathcal{H}^q_{\alpha}(h)$ , then

$$|a_{2}| \leq \frac{|A_{0}|B_{1}\sqrt{B_{1}}}{\sqrt{\left|A_{0}B_{1}^{2}\left(1+4\alpha\right)+\left(1+2\alpha\right)^{2}\left(B_{1}-B_{2}\right)\right|}}$$
(2.30)

and

$$|a_3| \le \frac{|A_1|B_1}{2(1+3\alpha)} + \frac{|A_0|(B_1+|B_2-B_1|)}{(1+4\alpha)}.$$
(2.31)

**Proof.** The inequalities in (2.30) and (2.31) can be easily proved by following the lines similar to those mentioned with Theorem 2.1 and Theorem 2.5, therefore we leave the details of the proof.  $\Box$ 

**Remark 2.9.** For  $\alpha = 0$ , the above theorem reduces to the result obtained in corollary (2.3).

**Remark 2.10.** For  $\alpha = 0, \varphi(z) \equiv 1$ , above theorem reduces to the coefficient estimates for Ma-Minda bi-starlike functions.

**Remark 2.11.** For  $\alpha = 0, \varphi(z) \equiv 1$  and

$$h(z) = \left(\frac{1+z}{1-z}\right)^{\gamma} = 1 + 2\gamma z + 2\gamma^2 z^2 + \dots \quad (0 < \gamma \le 1)$$

the inequalities (2.30)and (2.31) reduce to the result ([4], Theorem 2.1) and for

$$h(z) = \frac{1 + (1 - 2\gamma)z}{1 - z} = 1 + 2(1 - \gamma)z + 2(1 - \gamma)z^{2} + \dots$$

the inequalities (2.30)and (2.31) reduce to the result ([3], Theorem 3.1).

#### References

- R. Ali, S.K. Lee, V. Ravichandran and S. Subramaniam, Coefficient estimates for bi-univalent Ma-Minda starlike and convex functions, *Appl. Math. Lett.*, 25 (12) (2012), 344-351.
- [2] D.A Brannan, J. Clunie and W.E. Kirwan, Coefficient estimates for a class of starlike functions, *Canad. J. Math.*, 22 (1970), 476-485.
- [3] D.A Brannan and T.S. Taha, On some classes of bi-univalent functions, *Studia Univ. Babes-Bolyai Math.*, 31 (2) (1986), 70-77.
- [4] P.L. Duren, Univalent Functions, in; Grundlehren der Mathematischen Wissenschaften, 259, Springer, New York, 1983.
- [5] B.A. Frasin and M.K. Aouf, New subclasses of bi-univalent functions, *Appl. Math. Lett.*, 24 (2011), 1569-1573.

- [6] S.P. Goyal and P. Goswami, Estimate for initial Maclaurin coefficients of bi-univalent functions for a class defined by fractional derivatives, *Jour. Egypt. Math. Soc.*, **20** (2012), 179-182.
- [7] S.P.Goyal and Rakesh Kumar, Coefficient estimates and quasi-subordination properties associated with certain subclasses of analytic and bi-univalent functions, *Math. Salovaca* (In Press).
- [8] M. Lewin, On a coefficient problem for bi-univalent functions, Proc. Amer. Math. Soc., 18 (1967), 63-68.
- [9] W.C. Ma and D. Minda, A unified treatment of some special classes of univalent functions, in: Proceedings of the Conference on Complex Analysis, Tianjin, 1992, 157-169, Conf. Proc. Lecture Notes Anal. I, Int. Press, Cambridge, MA, 1994.
- [10] M.H. Mohd and M. Darus, Fekete Szego problems for Quasi-Subordination classes, Abst. Appl. Anal., Article ID 192956, 14 pages (2012), doi: 10.1155/2012/192956.
- [11] E. Netanyahu, The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in |z| < 1, Arch. Ration. Mech. Anal., **32** (1969), 100-112.
- [12] F.Y. Ren, S. Owa and S. Fukui," Some Inequalities on Quasi-Subordinate functions, Bull. Aust. Math. Soc., Vol. 43(2) (1991), 317-324.
- [13] M.S. Robertson, Quasi-subordination and coefficient conjecture, Bull. Amer. Math. Soc., 76 (1970), 1-9.
- [14] H.M. Srivastava, A.K. Mishra and P. Gochhayat, Certain subclasses analytic and bi-univalent functions, *Appl. Math. Lett.*, 23 (10) (2010), 1188-1192.

#### **Author information**

S.P. Goyal, Onkar Singh, Department of Mathematics, University of Rajasthan, Jaipur-302004, INDIA. E-mail: somprg@gmail.com, onkarbhati@gmail.com

Rohit Mukherjee, Department of Mathematics, Swami Keshwanand Institute of Technology, Jagatpura, Jaipur-302025, INDIA.

E-mail: rohit.m2003@gmail.com

Received: March 23, 2015.

Accepted: April 17, 2015